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= 2019 1 XI=D1H&E E 2019 4 =4 AFEDH
D) 5t = A} OH ALOH (A-B) ==
2t =1 = Oll AFOH(A) Oll AFOH(B)
Mol al Je
5200R Pt 1= 21,492,532 18,711,916 2,179,300
5210R M2 49 5,099,916 0,599,916 2.500,000
5211R JAH| o= 20.000 20.000 0 (TR 3| HE)H el AAB &A= 20,000,000
5212R A ECH Mol 120.000 120.000 0 (MRaAE)Hel HyRLEEZ 120,000,000
(WSS HEANSH SN X2 22 2 01X S=2 s AR
_ 2,459,916,000&
5218R S223H M2 4,959,916 0.459,916 2500,000
(J121E)) 202 =I|2HE 2,500,000,0008
5000R D152 29l 622,156 560,000 62,156
5221R &bt D182 40,000 40,000 O [HASSE] LEHDIE2 400,0008*100=40,000,000&
(DREZE) 20100 ERWB IS I3 49 L JHe|=2
200,000*x300¥=60,000,000&
(SHATIIE) DIRS2(XIRAH)-KIZ 22 () 1,125,790
(S TIRIE) DTSR (L8 22 100,000,0008
5020R XIE D122 582,156 520,000 62,156 | [CHQI@2iEl] XI=II22 1,030,000
[CHeE 11 XI”I|122 3,400,000 %1002 =340,000,000&
(BROAIENEAHSER J122 22 20,000,000
(CHste) Wel e I|I8&s=Z 60,000,000
2 Hx2
5230R P 15,770,460 15,552,000 218,460
(FEATAE) ZA00 20 BTACIRI(19E) 232 50
000,000l x 2517] = 100,000,000
3XE AE&dH| 16,000,000x5&1=80,000,000
(ST E) 202 DSL-TRS 42 13,500,000,0002
(stMxg) 22882 !'1,100,000,000&
- (X1 ALEI MBI AMIE]) CHBHALEIZ AIE 0l 8l 228 K22 8,000
5232R JIEI=D XS 760,460 652,000 108,460 | (oAt AL S B O
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=2 2019 1 XI=D1H&E E 2019 4 =4 AED2
2t st =] 01 AFOH (A) 0l AHOH(B) (A-B)
(NEXIE) AILAIR2 (20 E) 80,000,0008
(HESTAE) LRI LHAIZE 1,000,008 x 128
=12,000,0002
5320R [H0i2 LU AlE2 236,380 219,380 17,000 | (RS Z2HE!) 400,0008 x503 =20,000,0008
(BHUTIRIE) THOT AL R -3 I 15,000,000
(ES0INE)HLE AIRE 22 13,000,0008
jo
5830R VI = = 113,910 113,910 0
5331R =2 AIAF 22 5,520 5,520 0| (CHate) TatM =2 AlALE 5,520,000
(Z2HOEte)ele 50,0009 = A2 2009 X2 = 10,000,000
(BrUTIRE) JIERIL OISR 285N +2 80,720,000
5339R JIEI DS 204 108,390 108,390 0=
(BHATIIE) JIEF D RE 042l KISt I 2 AL 221 100,0008
(et ) 2= AIE 2AIZ 7,570,0008
5400R D28l 29l 205,268 7,803 197,465
s | AL
5410R mélc,omf 1 1 0
5411R OI20| Xt 1 1 0 (HRHE)U=2ZEX
5420R i’g = 2 205,267 7,802 197,465
(M) H=2=1
(M2 He) H=2=7
(NETIE) 524+ QeSS AR 100,008/ 8+351=300,000
5421R & 49l 205,267 7,802 197,465 | (AN ETIRE) SRS E(F A1) EII £2 2,000,0002
(WEEZE) 2 =03l 28] *15,000,0002 = 30,000,000&
StECH ] A S ME o5 OIAM R E2 3,000,0002 1Al
=3,000,000&
[CHeIEE] SZHH MIAH S B & 2Dl 156,456,000
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S 2019 1X5012&®| 2019 4 =2 AED
e & = 01l &+ 24 (A) 01l &4 (B) (A-8) -
[(HEAE] 418 = k-pop 1,000,000&*1=1,000,000&
5421R Q_J'k_%l 205,267 7,802 197,465 [gggJOEOEQE] == E%@Eﬂﬁék—pop 1,500,000%*1: 1
(B2 OIAE)E 42 11,000,000
1200R =A2bIEF
g 2,000,002 2 2,000,000
12607 2DISE 2,000,002 2 2,000,000
(O15/8)) 202151321 2,000,000,0002
1263R 2 2250|2215 2,000,001 1 2,000,000 ——— :
(W& HE) DH2ER
1264R 22 &EI|2 015 1 1 NEEEEEEEE
REpON
13008 S 5.000 20,000 ~15,000
oA
13108 GBS A 5,000 20,000 ~15,000
1316R XZ2Er7 M2 5,000 20,000 ~15,000 | (A= X2 E) X227 02 L HIX 42 5,000,000
REESET
2210R &I XHe)2 1 1 0
o (M= AE)ANB BN ZoIXe2 @ =48 1,699,908,000
2211R HIIXYS T 1 1 JE!
2220R JIEF E =
i 1 1 0
2001R AUHE =2 20 1 1 o|(MPEAB)A=EX
99008 B1A1E &I 4,470,933 600,000 3,870,933
o990R DI 4is &1 4,470,933 600,000 3,870,933
9999R DIAME &JI01E X3 4,470,933 600,000 3,870,933 | U1#18) DIAEZII0IA TS BISSS 2 : 4,470,933 485
2 g 32,749,307 23,638,043 9,111,264
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